CS EGI22004377

. in 184

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Company
Owner ID: Vehicle Details	821R
Vehicle No.:	SHA3941P
Vehicle to be Exported:	Yes
Intended Deregistration Date:	10 May 2022
Vehicle Make:	HYUNDAI
Vehicle Model:	AE IONIQ HEV FL 1.6 DCT
Primary Colour:	Blue
Manufacturing Year:	2019
Engine No.:	G4LEKU407486
Chassis No.:	KMHC851CVLU189569
Maximum Power Output:	103.6 kW (138 bhp)
Open Market Value:	\$26,033.00
Original Registration Date:	11 Mar 2020
First Registration Date:	11 Mar 2020
Transfer Count:	0
Actual ARF Paid: Intended PARF Rebate Details	\$13,447.00
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	10 Mar 2028
PARF Rebate Amount: Intended COE Rebate Details	\$10,085.00
COE Expiry Date:	10 Mar 2028
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	8
PQP Paid:	\$26,566.00
COE Rebate Amount:	\$19,371.00
Total Rebate Amount: Message	\$29,456.00

vehicle reaches its statutory lifespan (if applicable), whichever is earlier. The information contained herein is correct as at 10 May 2022



SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

Please report correctly the details of the accident to speed up the claims process.

2. This Form must be completed by the Policyholder and/or the Authorised Driver

3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy liability.

4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for investigation.
6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for exchiving and that copies of this report will, for a fee, be made available upon application by interested parties.

7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of Submission Date of Accident Exact Location of Accident Additional Location Information Country/State of Loss

10/05/2022 18:22 (SGT) 09/05/2022 20:00 (SGT) Keppel Rd, Singapore

Singapore

DETAILS OF OWN VEHICLE

Vehicle Registration Number

SHA3941P

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner Company Reg No Email Address Mobile Phone No Alternative Phone No

VEHICLE PARTICULARS

Yes COMFORT TRANSPORTATION PTE LTD 1XXXXX821R fleetsafety@cdgtaxi.com.sg (Phone) +65-91371414 (Office) +65-65508768

Manufacturer

Model

Variant Exact purpose for which vehicle was being used at time of Are you claiming under your own insurance policy for repair to your vehicle? Vehicle Category Transmission CC

Hyundai Ae ioniq AE IONIQ HEV FL 1.6 DCT

Private hire

No - Claiming third party Taxi Auto 1580

INSURANCE COMPANY

Name of Insurance Company Type of Coverage Fleet Policy Policy Number Cover Note Number

AXA Insurance Pte Ltd ThirdPartyFireTheft Yes VFX/P2419138

DRIVER

Name of Driver NRIC No

ANG HONG YEW(HONG FENGYOU) SXXXX383C



Occupation

Date Of Driving Pass Driving experience

Gender

Mobile Number

Alt. Phone Number

Email Address

Address

Address complement

Postcode

Is the driver the policyholder?

If No. Relationship of the Driver with the Insured

Does Driver Own Other Vehicles?

Vehicle Registration Number of Other Vehicle Owned by Driver

Insurance Company of Other Vehicle Owned by Driver

GENERAL INFORMATION OF THE ACCIDENT

Type of Accident Weather Conditions

Road Surface

OTHER INFORMATION

Was any foreign vehicle involved in the accident?

Number of vehicles involved in the accident

Was anybody injured in the Accident?

Was any injured conveyed to hospital by ambulance?

Was any other vehicle or property damaged? Number of Passengers (Including Driver)

Has the driver been approached by unknown person(s)

soliciting/offering accident claims assistance?

PASSENGER 1

Name

Gender

DETAILS OF POLICE ACTION

Was the accident reported to the police?

Police Station Name Police Station Phone No Police Station Address

Was notice of intended Prosecution given?

If yes, against whom?

CIRCUMSTANCES OF ACCIDENT

Refer to the Police Report

ATTACHMENT(S)

Are accident photos available for attachment? Was there any video captured by Car Camera?

Reasons for not uploading a video of the accident

Was there any audio recorded?

Yes

4/61/60/02

10/04/1995

27 YEARS AND 1 MONTH

fleetsafety@cdgtaxi.com.sg

BLK 466A SEMBAWANG DRIVE #15-315

(Phone) +65-91371414

Outdoor

751466

Chain Collision

Clear

Dry

No

Yes

Yes

Yes

2

No

LUQMAN

Male

Yes

No

3

No

No

Hirer

Yes

FILE IS NOT SUITABLE

Sembawang Neighbourhood Police Centre

4 Sembawang Crescent Singapore 757633

(Phone) +65-18005549999

No

DETAILS OF OTHER VEHICLE PROPERTY 1

Vehicle Registration Number Vehicle Manufacturer GBD9395G

_



Vehicle Model Vehicle Variant Vehicle Colour

Vehicle Category Name of Driver

Passport No/FIN

Contact Number

Address

Address complement

Postcode

Insurance Company Name

Nature Of Damage

Details of property damaged in accident No. Of Passenger (Including Driver)

PASSENGER 1

Name Gender

Commercial vehicle MUKUNDHU VIKRAM

GXXXX892U

(Phone) +65-90223873

2

UNKNOWN

Male

DETAILS OF OTHER VEHICLE PROPERTY 2

Vehicle Registration Number Vehicle Manufacturer

Vehicle Model Vehicle Variant Vehicle Colour

Vehicle Category Name of Driver Contact Number

Address

Address complement

Postcode

Insurance Company Name

Nature Of Damage

Details of property damaged in accident

No. Of Passenger (Including Driver)

SLF6011E

Toyota

Private hire

DAVID (Phone) +65-92319910

INJURED PERSONS DETAILS

INJURED 1

Name of injured person

Gender Phone No Address

Address Complement

Post Code

Approximate Age Years Old

Injuries Sustained

Injured person in which vehicle? Were seat belts worn?

Was this injured conveyed to hospital by ambulance?

INJURED 2

Name of injured person

Gender Phone No Address

Address Complement

Post Code

Approximate Age Years Old

Injuries Sustained

Injured person in which vehicle?

Were seat belts worn?

Was this injured conveyed to hospital by ambulance?

LUQMAN

Male

CHEST PAIN

SHA3941P

ANG HONG YEW(HONG FENGYOU)

Male

Back pain SHA3941P

SKETCH PLAN

IMPORTANT NOTICE

- Please report <u>correctly</u> the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver
- 3. Information provided must be as truthful and accurate as possible. Any writtli misrepresentation or writhholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5 Any false reporting may be referred to the Police for investigation
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act(PDPA)

Lunderstand, acknowledge, agree and consent that

- (a) Myinsurer , my'w orkshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this (form) and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' law yers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of :
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
- (ii) investigating the accident and/or my claims.
- (a) carrying out and/or dealing with my instructions or responding to any enduries by me;
- (by) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve packages), and/or
- (v) complying with applicable law in administering iprocessing, handling and/or dealing with my claims, (collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the Insurers, lawyers law firms, may/are permitted to collect, use, disclose and/or process my Personal information for one or more of the above Purposes, and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents (including their law yers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes

Describe Circumstances of the Accident PLEASE REFER TO POLICE REPORT T /20220510/2002

Declaration

I/We declare the foregoing particulars are true in every respect.

Policyholder's Signature / Date &

Witnessed by Reporting Centre





1 of 4

Sembawang N.P.C 4 Sembawang Crescent SINGAPORE 757633 Tel No: 1800-5549999

Tel No: 1800-5549999	ORE	Report No. T/20220510/2002
REPORT OF A TRAFFIC ACC Date/Time Report Made: 10/05/2022 00:40		
Informant's Particulars Name of Informant:	Sport No.:	Station Diary No.: 12

-0,2022 00:40	Vide Report No.:						
Informant's Particulars Name of Informant:		Station Diary No.					
ID Type / ID No.: NRIC NO / S7431383C Nationality: SINGAPORE CITIZEN Sex:	Address: APT BLK 466A SEMBAWANG 751466 Contact No.: Home/Office: Email:	G DRIVE #15-315 SINGAPORE Mobile: 91371414					
Male 47 Date of Birth: 20/09/1974 Race: Chinese Occupation: Faxi driver	Class: 2B,2A 2 3 4	nstitution / School Name:					
neral Information of the Accident	L	late of Expiry:					

	tion of the Accident			8
Accident:	Attended by Police	Drink		
Location:	3 01106	Drive:	Date/Time of Accident:	Type of Location
KEPPEL ROAD			09/05/2022 20:00	
N/ 11				
Veather:				
	Roa	ad Surface:	1	
raffic Flow:			F	Road Speed Limit:
Veather: raffic Flow: vpe of Collision:		nd Surface: fic Control:		Road Speed Limit:
				Road Speed Limit: raffic Volume:
raffic Flow:			Ar	

Vehicle No. GBD9395G		Make	3860 6 7 7 7			
2000G	Lorry	2.00	Model	Color	20 10 27 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	
SHA3941P	100				Coridition	No of Passenge
	Car				- "Silly	1 1
LF6011E	Car				Damaged	1
	Car				Seriously	1
					Damaged	
					Slightly	1
					Damaged	





T/20220510/2002

3 of 4 Report No. T/20220510/2002

Police Station Of Origin: Sembawang N.P.C 4 Sembawang Crescent SINGAPORE 757633 Tel No: 1800-5549999

CONTINUATION OF REPORT

Subsequently, we came down from our vehicles to make a check. My taxi was badly damaged and it was being towed on the spot. My front registration plate was broken and the rear vehicle was heavily dented in. The front vehicle was slightly damage at the rear. However, he had to drive off as he had a passenger. The behind lorry damages were the front bumper.

Ambulance and Traffic Police came down to the location. I was advised to lodge a report. My passenger was conveyed to SGH.

I have an in-car camera.





T/20220510/2002

4 of 4

Report No. T/20220510/2002

Police Station Of Origin: Sembawang N.P.C 4 Sembawang Crescent SINGAPORE 757633 Tel No: 1800-5549999

CONTINUATION OF REPORT

Sketch Plan

Informant is not able to provide sketch plan

IMPORTANT: Please attach a copy of your vehicle's Insurance Certificate to this report. If you don't have the certificate with you now, please fax a copy to 65474885 stating the **report number** as reference.

Signature of Officer Recording The Report: L / SGT 3 WAN FARAH DINA BINTE SAIFULLIZAN	Signature Of Informant:
Signature Of Interpreter: Not applicable	Date/Time: 10/05/2022 00:40
Officer In Charge Of Case: TP / GIT / SR STAFF SGT ABDUL RAHIM BIN SALIM Contact No.: 65476433	Classification Of Case:
NP168	

BIFROST AUTO PTE LTD

REPAIR ESTIMATE

DATE:

10-May-22

MODEL:

HYUNDAI IONIC

VEHICLE NO.:

SHA 3941P

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting

To display damaged part(s) during resurvey

Parts prices are subject to confirmation

INSURANCE, survey is on a "Without Prejudice" basis

No illegal modification(s) is allowed

- Supplementary item(s) must be resurveyed <u>and</u> is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

			Signature:		
Description	Qty	Lis	t Price	Amount	
Bonnet Deubl	1	\$	2,253.80	\$ 2,253.80	
Bonnet Hinge (LH/RH)	2	\$	118.70	\$ 237.40	×
Bonnet Lock 15th	1	\$	127.30	\$ 127.30	
Bonnet Insulator SVV	1	\$	230.10	\$ 230.10	×
Bonnet Insulator Clips Hall	1	\$	15.00	\$ 15.00	×
Flap Assy Active Air Upper, (LH/RH) Droken money both	- 2	\$	824.60	\$ 1,649.20	1
Flap Assy Active wire with the ton	1	\$	765.30	\$ 765.30	
Front Number Plate garnish admid	1	\$	188.00	\$ 188.00	-
Front Bumper Cover David I torn	1	\$	481.10	\$ 481.10	1
Front bumper top cover the area	1	\$	476.30	\$ 476.30	-
Front Bumper Sponge Inc.	1	\$	186.90	\$ 186.90	1
Front Bumper Reinforcement 194	1	\$	1,136.70	\$ 1,136.70	L
Front Bumper Reinforcement ABSORBER (LH/RH)	y 2	\$	186.50	\$ 373.00	15
Front Bumper Towing Cover	1	\$	29.00	\$ 29.00	×
Front Bumper Moulding Centre Upper William	1	\$	368.50	\$ 368.50	1
Front Bumper Moulding HF	1	\$	93.60	\$ 93.60	×
Front Bumper Bracket Top (LH/RH) horisen	2	\$	85.00	\$ 170.00	1
Front Bumper Bracket (LH/RH) &	2	\$	75.00	\$ 150.00	×
Front Bumper Retainer Mounting (LH/RH)	2	\$	95.00	\$ 190.00	X
Front Bumper Clips 10 pcs Hu	1	\$	45.00	\$ 45.00	1
Front Bumper Grille (LH/RH) NH	1	\$	186.90	\$ 186.90	×
Headlamp Support Panel Assy bones	1	\$	1,139.30	\$ 1,139.30	1
Headlamp(LH/RH) CAUC brown 2110.30 x 2 2	2	\$	3,987.30	\$ 7,974.60	4220
Horn Unit (LH/RH) HIS Dem Ola HH	2	\$	(2.80	\$ 145.60	1
Horn Wire	1	\$	386.70	\$ 386.70	×
Radiator Inverter 15t Punchal	1	\$	884.80	\$ 884.80	~
Radiator 1st puncture	1	\$	710.50	\$ 710.50	1
Radiator fan blower motor assy briten	1	\$	1,459.60	\$ 1,459.60	1
Radiator Air Guard (LH/RH) 0 9 HH HIS TON	2	\$	(76.40)	\$ 152.80	L1-
Radiator Air Guard, Upr (LH/RH)	2	\$	127.50	\$ 255.00	X
Front Fender(LH)	1	\$	490.70	\$ 490.70	
Front Fender Shield (LH)	1	\$	164.70	\$ 164.70	×
Air Duct 44	1	\$	156.80	\$ 156.80	×
air duct hose	1	\$	86.40	\$ 86.40	X
Aircon Condenser 194 punctural	1	\$	663.60	\$ 663.60	1
Frt Door(LH/RH)	1	\$	1,797.20	\$ 1,797.20	× 22,77
Frt Door Rubber	1	\$	250.00	\$ 250.00	X
Frt Safety Belt(Assy)(LH/RH) Ruhinshi	2	\$	648.90	\$ 1,297.80	
Rear Safety Belt(Assy)(LH/RH)	2	\$	513.20	\$ 1,026.40	
Rear Safety Belt Garnish Cover(LH/RH) Wak many	2	\$	398.00	\$ 796.00	
Front Windscreen Glass CVICLC lordien	1	\$	1,558.10	\$ 1,558.10	
Front Windscreen Moulding	1	\$	157.30	\$ 157.30	

,		_				
Dashboard Complete broken	1	\$	4,724.00	\$	4,724.00	
Passenger Air Bag Activity	1	\$	2,633.00	\$	2,633.00	
Steering Airbag Complete	1	\$	1,090.90	\$	1,090.90	
Airbag Control Module actual	1	\$	1,243.70	\$	1,243.70	
Knee control airbag module assy	1	\$	578.60	\$	578.60	
Steering Angle Assy	1	\$	786.90	\$	786.90	×
Sensor Assy Impact -Frt Inpact HA	1	\$	643.90	\$	643.90	×
Airbag Sensor (LH/RH)	2	\$	348.10	\$	696.20	857
Boot Lid Dark	1	\$	2,549.70	\$	2,549.70	L
Boot Lid Rubber town augmed	1	\$	187.40	\$	187.40	4
Boot Lid Hinge (LH/RH) ₩	2	\$	71.30	\$	142.60	4
Boot Lid Absorber (LH/RH) אח	2	\$	86.70	\$	173.40	4
Boot Lid Lock Upper 1/1 2	1	\$	224.00	\$	224.00	4 '
Boot Lid 'H' Emblem	1	\$	28.00	\$	28.00	
Emblem-Hybrid Hav	1	\$	24.30	\$	24.30	
Emblem-lonig	1	\$	31.30	\$	31.30	i .
Boot Lid Lamp(LH/RH) wat	2	\$	822.00	\$	1,644.00	
Boot Lid Trimboard	1	\$	259.70	\$	259.70	
Boot Lid Trimboard Clips (10pcs) ⊢ы	1	\$	11.00	\$	11.00	*
Boot Lid Trimboard, Centre	1	\$	159.60	\$	159.60	1 '
Boot Lid Trimboard, Sentre	2	\$	92.50	\$	185.00	*
Boot Lid Trimboard REAR	1	\$		\$		7
Boot Lid Hilliboard REAR Boot Lid Glass, Upper	1	-	124.80	_	124.80	*
Boot Lid Glass, Opper Ad Boot Lid Glass, Lower bonen	1	\$	907.20	\$	907.20	
	1	\$	584.90	\$	584.90	
Boot Lid Glass Upper Moulding	1	\$	186.30	\$	186.30	
Boot Lid Glass Lower Moulding	1	\$	145.20	\$		my X
Rear Bumper town Deuts	1	\$	459.40	\$	459.40	1
Rear Bumper Reinforcement ALC MALL	1	\$	394.80	\$	394.80	
Rear Bumper Reinforcement Bracket (LH/RH) Somen Den		\$	188.10	\$	376.20	
Antenna Assy-SMARTK outer money broken	1	\$	689.50	\$	689.50	
Rear Bumper Centre Moulding Assy town (Doubt	1	\$	451.25	\$	451.25	
Rear Bumper Lower Centre Moulding Assy wonding brown		\$	47.50	\$	47.50	
Rear Bumper Stay	1	\$	138.10	\$	138.10	× 24,628-7
Rear Bumper Side retainer (LH/RH) > ~	2	\$	85.80	\$	171.60	X
Rear Bumper Cover Clips المحدد	1	\$	22.00	\$	22.00	
Rear Bumper Under Centre wony broken	1	\$	123.85	\$	123.85	1
Rear Bumper Side Under(LH/RH) 0 3 HA H S Wolcon	2	\$	(123.10)		246.20	
Rear Bumper Rear Hook	1	\$	94.60	\$	94.60	7
Rear Bumper Reflector Lamp(LH/RH)	2	\$	82.90		165.80	
Rear Bumper Towing Cover 🛶 so Ket	1	\$	98.80	\$	98.80	×
Rear Bumper Reserve Light (Parking Brake Light)	1	\$	328.60	\$	328.60	
Licence Lamp how broken	1	\$	193.53	\$	193.53	×
Licence Lamp WIRE HA	1	\$	135.80	\$	135.80	*
Tail Lamp(LH/RH) c战	2	\$	870.40	\$	1,740.80	1
Tail Lamp Quarter Panel(LH/RH)	2	\$	208.90	\$	417.80	L
Rear Panel Ruh	1	\$	532.00	\$	532.00	L-
Rear Panel Garnish dolmed	1	\$	346.80	\$	346.80	~
Spare Tyre Holder bonen	1	\$	223.10	\$	223.10	1
Spare Wheel Lock Nut 🦇	1	\$	89.50	\$	89.50	
Spare Tyre Panel Dent	1	\$	892.50	\$	892.50	-
Panel Assy-Rear Floor Side (LH/RH)	2	\$	39.40	\$	78.80	4
Rear tray tools box RH	1	\$	675.30	\$	675.30	X.
Rear tray tools box LH	1	\$	693.20	\$	693.20	
REAR TRAY LUGGS CENTER dome	1	\$	354.20	\$	354.20	1

[]						
Exhaust Pipe Insulator HH	1	\$	235.00	\$	235.00	7 <
Exhaust Silencer	1	\$	943.50	\$	943.50	#00.000
Exhaust Pipe Hanger 🛶	1	\$	29.20	\$	29.20	×
						-1
SUB TO	TAL			\$	62,261.83	47,403.70 37,922-96
LESS	20%			_	12,452.37	132 622 61
DISCOUNTED TO	TAL			-	49,809.46	1 37,9 11-96
		+		+	10,000.40	1
Front Number Plate distribution 5	SN 1	\$	25.00	\$	25.00	2
Frank No Di t Ti C	SN 1	\$	30.00	\$	30.00	-
COOLANT	SN 1	\$	45.00	\$	45.00	- 1
Combined Discourse Discour	SN 1	\$	26.60	\$	AND DESCRIPTION OF THE PARTY OF	*~ List
Frank D. O. C. L. W. W. C. C.	SN 1	\$	75.00	\$		* LIST
F	SN 1	\$	46.00	\$	46.00	
Front EDD DD A OVET	SN 1	\$	30.00	\$		
IND COTED COCK INC	SN 1	\$	65.00	_	30.00	1
Doot Lid Oracle 11	SN 1	-		\$	65.00	(
Death in Co. C.	SN 1	\$	35.00	\$	35.00	
Dec. N. D. (T. C	SN 1	\$	30.00	\$	30.00	× 648.05
Dear Minds	N 2		45.00	\$	45.00	
Daniel Da	N 1	\$	46.00	\$	92.00	
		\$	50.00	\$	50.00	a .
CDADE TYPE BANEL TOO CO.		\$	180.00	\$	180.00	
OF THE PANEL FOR COVER SILICON FOR S	N 1	\$	250.00	\$	250.00	50/-
CUP TO						1
SUB TO	IAL			\$	1,024.60	
Labour Charge	_					
Panel Beating			200000			
Spray Painting Charge	1		2,000.00		\$2,000.00	
Wiring Charge	1		2,000.00		\$2,000.00	
Tuff Kote	1		\$100.00		\$100.00	
Towing Charge	1		\$100.00		\$100.00	
	1 1		\$80.00			
Remove/Refix Cushion & Upholstery Rear Remove/Refix Rear Windscreen Glass	1		\$150.00		\$150.00	
Remove/Refix Reverse Sensor	2		\$120.00		\$240.00	1201- 2400 101
	1		\$120.00		\$12 0.0 0	401-3450·W
Remove/Refix Exhaust Pipe	1		\$80.00		\$80.00	HH
Transfer of Door Mechanism FRONT	1		\$80.00		\$80.00	HH
Re-set Frt Power Window System	1		\$200.00		\$200.00	HH
Remove/Refix Radiator	1		\$90.00		\$90.00	50/-
Remove/Refix Aircon & Refill Gas	1		\$130.00			801-
Remove/Refix Front Windscreen Glass	1		\$120.00		\$120.00	801-
Remove/Refix Air Bag/Steering Wheel/Dashboard/Seat	1		\$550.00		\$550.00	1801-
Reset Safety Belt	1		\$120.00		\$120.00	7
Diagnostic & Resetting To Erase Fault Code	1		\$550.00		\$550.00	150/-
						,
OTAL LABOUR					\$6,710.00	
11 05 222 C 170ms						147
STIMATE TOTAL NA Avonu				\$ 5	7,544.06	7 4020-96
Plan. 15 days						1 20
This is an initial estimate based on a visual inspection of the						110//
will be prepared after the vehicle is surveyed by a motor	above vehi	cle.	The final re	pair	quantum	42,020-96

The appropriate days of days of the insurance Surveyor appointed by the Surveyor appointed by the insurance Surveyor appointed by the Surveyor appointed by

BIFROST AUTO PTE LTD

SUPPLEMENTARY REPAIR ESTIMATE

DATE:

17-May-22

INSURANCE: ERGO

MODEL:

HYUNDAI IONIC

VEHICLE NO .:

SHA 3941 P

Description Aircon motal I	Qty	Lis	t Price		Amount
Aircon metal hose - big Smal Dechi	1	\$	352.10	\$	
Speaker Conc	1	\$	256.10	\$	
Electronic clutch pump and	1	,		+	
Rear Spoiler Copula	 	\$	4,386.50	\$	4,386.50
Spare Tyre Panel	1	\$	665.40	\$	665.40
	1	\$	892.50	\$	892.50
	1	\$	1,768.30	\$	1,768.30
Rear Fender Trim Board (LH)	1		\$788.75	\$	788.75
Assy BSD Blind Spot Radar (LH)	1	9	\$1,784.40	\$	
	<u> </u>		\$1,704.40	Ψ	1,784.40
SUB TOTAL				\$	10,894.05
LESS 20%				\$	2,178.81
DISCOUNTED TOTAL					
	-+			\$	8,715.24
STIMATE TOTAL	-+				
				\$	8,715.24

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance company. Please send your book value request to: claims_ltr@bifrostauto.com

Jek Ad

Vehicle no.:SHA 3941P

S/N.	P	ARTS				NETT		S/NETT		L	ABOUR
1	\$	2,253.80	\$	142.60	\$ 1,784.40						
2	\$	127.30	\$	224.00							
3	\$	1,649.20	\$	28.00							
4	\$	765.30	\$	24.30							
5	\$	188.00	\$	31.30							
6	\$	481.10	\$	1,644.00							
7	\$	476.30	\$	584.90							
8	\$	186.90	\$	459.40							
9	\$	1,136.70	\$	394.80							
10	\$	373.00	\$	376.20							
11	\$	368.50	\$	689.50							
12	\$	170.00	\$	451.25							
13	\$	45.00	\$	47.50							
14	\$	1,139.30	\$	22.00							
15	\$	4,220.60	\$	123.85							
16	\$	72.80	\$	123.10							
17	\$	884.80	\$	82.90							
18	\$	710.50	\$	328.60							
19	\$	1,459.60	\$	1,740.80							
20	\$	76.40	\$	208.90							
21	\$	490.70	\$	532.00							
22	\$	663.60	\$	346.80							
23	\$	1,297.80	\$	223.10							
24	\$	1,026.40	\$	89.50							
25	\$	796.00	\$	892.50							
26	\$	1,558.10	\$	39.40							
27	\$	157.30	\$	693.20							
28	\$	4,724.00	\$	354.20							
29	\$	2,633.00	\$	26.60							
	\$	1,090.90	\$	352.10							
31	\$	1,243.70	\$	256.10							
32			\$	4,386.50							
33		696.20	\$	665.40							
34		2,549.70		N							
35	\$	187.40	\$	788.75							
36											
	\$	36,478.50			1,784.40	\$	-	\$	-	\$	-
			Su	b Total:	57,405.25		10%				
				20%		\$	-				
					\$ 45,924.20	\$	-				
								ΤΟΤΔΙ ·		\$	45 924 20

TOTAL: \$ 45,924.20 80% Lump Sum: \$ 36,739.36 Round Off: \$ 33,600.00